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MAT 280 (T2)

Issuc 1

Anrswer Vey

-1/2

-7/5

-9

1

5/6

Y=1/4X -7/4
Y=-1/4X -5
Y =-1/2X -9/2
33X -2Y=3
8X +3Y =1

. (B3x +2)(Tx - 6)

3(2x + 5)(4x — 3)
(Bx + 4)(4x — 5)
(Tx + 3)(4x — 5)

. -(8x + 3)(5x - 3)
X —4x 21

L XP—-6x-7

. x2—11x + 28

. x2—12x + 35

. xX2-5x-14

. x*—2x-35

. 3x*—10x-8
L2+ T7x+ 2

9x2—9x + 2

. 18x*+51x + 8

x=-2
x =-38
x=4
x=-3
x=-2

5+ 1)—7(x—3)=28

5x+5-7x+ 21 =28

1_3 .
7 = 2 (common denominator)

2x+11
4
=>2x+11=3

=2x=-8
=>x=-4
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-9_

. 24/7
x=9
. D
All numbers, infinitely many solutions
8
33
. 1.08x108
Ans = 9.08
.3
.75
. 2x-03=0.16
2x = 0.46
x =023
. 2x-1=225
2x =226
x =113
. ¥=033%5=334%=331/3%
. 75% =0.75

. 13 quarts 11 pints = 18 quarts 1 pint = 4 gallons 2

quarts 1 pint = 4 gallons 5 pints = 43 gallons

. 2X(18 ft 3in + 10 ft 8 in) = 2X (28 ft 11 in) = 506 ft

22in =57 ft & 10 in

. 5%x4=20
. 20-14 =6 mph

15+6 = 2.5 (hr)

. 20-2x2=16

202 - 162 = 400 - 256= 144

C1-%=4=7/8
. 42000+2520 = 4200+252 = 420+25 = 16R*

16 +1=17
30-pound is redundant or useless.)

. 980+7x10 = $1400

£BOD = 90°
x=90-25=065

LO2X(237 + 1°87) = 2X(3'117) = 6227 = 7’107 =7

ft & 10 in

22X9X7 = 1386 cu. inches
1386+231 = 6 (gallons)

. Method I)

75%:25% = 3:1
420+3 = $140

Method I1)

420+%4 = 560
560 - 420 = $140

O



56.

57.
58.
59.
60.
61.

62.

63.
64.
65.

66.
67.
68.

36X100x8x106 = 2.88x1014
Ans = 2.88 (for a) & 14 (for b)

x=96

0.0012

4

4.8%10°

x-3y-6= %

x-3y = 6%

3x-9y=3(x-3)) =19

2x2-3x-2=0

2x+Dx-2)=0

x=-05&2

D

10(10-3) _
2

Let X = the investment at 12%

2x + 100 = the investment at 15%

d2x + .15(2x + 100) = 855

4x + 5(2x + 100) = 28500

14x + 500 = 28500

14x = 28000

x = 2000 (at 12%)

2x + 100 = 4100

2000 + 4100 = $6100

65x1.2 = $78

B

a="%0B+13)=8

b=-4

Ans = 8 & -4

35
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69.
70.

71.

72.

73.

74.
75.

Issuc 1

81+45% = 81+.45 = 180
D

(68 - 32)><§ =20

D

(23-32x2=-5

C

2Xxarea of AABC

= ABXBC = ACXBD
12x16 = 20XBD

BD =96

B

radius = 10

area of semicircle = ¥2(10%)m = 501

area of the triangle = %2X12X16 = 96
area of the shaded region = 501 - 96 (in?)
2x5% -10 = 1.5 Ibs

height = 12

area of a triangle = 2(10%x12) = 60

Area of the thombus: 2X60 = 120

See the following figure.
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